
1) (9 x 53) x (3 x 75)

Answer: ____________

2) (3 x 8-4) x (6 x 47)

Answer: ____________

3) (8 x 73) / (7 x 72)

Answer: ____________

4) (10 x 61) x (5 x 99)

Answer: ____________

5) (1 x 43) / (2 x 4-9)

Answer: ____________

6) (2 x 4-1) x (5 x 107)

Answer: ____________

7) (9 x 46) x (10 x 71)

Answer: ____________

8) (5 x 17) x (8 x 101)

Answer: ____________

9) (1 x 24) x (9 x 1-5)

Answer: ____________

10) (2 x 1-1) x (10 x 64)

Answer: ____________

Total: ___ / 10
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Answers:

1) 56723625 2) 72 3) 8 4) 116226146700 5) 8388608 6) 25000000 7) 2580480

8) 400 9) 144 10) 25920
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